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-0.12t = @kg

@5 @ 4000 ® 0.9

@ 1400000 ® 12



12.

t TS ARESH] YeEr 7ol 7 Lk

®© ® ©@ ® ©

EESEES
7o) 27
50| 7
BA7]0] 27

3 £ Repe] Y T



13. o= T t2 FAE UHe7]el A9
HOAQ,

Q@ Asx10d © 9™ 10#

5 L
=%



14. vs WeAls A2
9.27+9



15. T 40l 3715 Hwslo] >, < Bl =5 o2 oA Q.

725+5 (0 4.68+3




ol
ftlo

8

—

16. =919 Zol7F47.1em ] B85
emZ 51 R EA] LA L.,

5 ER em

=
e
&)
ftlo
W



'y

cm

5 o]
39.6cm?

~~8cm-~



18.

ki

et



19. [ [¢ro] Eold 5o & FEHA L.
10000m? = h=[ ]ha

D R
=%



@D 24a = 240m?
@ 8km? = 80000 a

® 47m? =470a

@ 1300a = 1.3 ha

@ 1.6km? =1600a



21. o= FolA Holo &9 BAE v el 22 ol

® 25km? = 2500a @ 4.9a=490ha
@ 6800000 m?2 = 680 a @ 0.54ha = 5400 m?2

® 370a = 3.7m?



22. O FoA Hol7t 7P & AL o= AY

O 0.02km?2 @ 0.2ha ® 2000a

@ 20000 m? ® 2ha



23.

wo]7} 162a Q1 AAFZFS RoFo] 2 =Abo] 9]

Mzol Aol7t 120m Y wf, 7F2 o] Aoj= o

B -



@ 56000000g = 56t

@ 380000¢g + 0.063t = 443 kg
® 3.5t +820kg = 1170kg

@ 0.7t 2 70g 2] 10000 BioJT},

® 380kg + 4200 g = 380.42kg



25. 200 2] 2A7 5.8 9 B70] Uit B AFAe] B P kg
1] 74 2.

B e kg



